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Section A: Verbal and Logical Ability
Six words arc given below:
[. Cacophonic

I11. Calamitous
V. Contraindicative

[1. Cacographic
[V. Catastrophic f
VI. Cataclysmic

Which of the above words have similar meanings?

A. 1V & Vl1only

B.1, 11 & Vonly ; ‘
C.1I, V & Vlonly \

D. III, IV & VIonly

E. 1L IV, V & VIonly

Read the four sentences given below:

of the speakers to address us today.
justice is the essence of his talk.
rain.
__in their respective fields.

i. He is the most
ii. The belief in
iii. This hall would have been full but for the
iv. Many in the audience have achieved ____

Which of the following sequence of words would most appropriately fit the blanks?

A. i. Eminent, ii. Imminent, iii. Immanent, iv. Eminence
inence, iv. Eminence ,

B. i. Immanent, ii. lmminent, 1L Immi
C.i. Eminent, ii. Immanent, iii. Imminent, iv. Eminence
D. i. Eminent, ii. Immanent, iii. Imminent, iv. Imminence

E. i, Immanent, ii. Imminence, iii. Eminent, 1v. Eminence

Ti]c first and the last sentences of the paragraph arc numbered 1 & 6. The others, labelled as P, Q,

R and S, arc given below:

strange one and baffles many a critic.

ts who see a bright future.
d they insist that it is the end of the road for cinema.

. The world of cinema is indeced a
P. But there are incorrigible optimis
Q. The Pundits still predict doom an
R. At the temples of the box office, fortuncs

S. The world of cinema has, they say, its owWD attraction. - |
6. Perhaps a positive outlook is not unwarranted. A doomsday approach is far too fatal at this stage.
. "naps @

ations given below is the most logically ordered?

are made and unmade.

Which of the following combin

A. 1SQPR6
B. IRSPQ6




C. 1IRQPS6
D. 1QSPR6
E. 1QPSR6

Which of the followings is not a term of ‘disapproval'?

A. infantile
B. charlatan
C. imbecile
D. childlike
E. awful

Read the following sentences and choose the opti
ption that best arran i i
ges them in a logical order.

1. It is certainly true that the critics—those persons whe icti
s o > i om the dictionay i Nelei :
judging the qualities or merits of some class of things, cspecially ofll'z'lcf::Scnbes a.s . skilled in
have long harboured murderous thoughts about the conditions of o st work” -
ineffectuality as public executioners is legendary. our drama, but their
11. But not close enough, it would seem, for this “
desire ing a relative
III. The reviewers, by contrast, come close to being the most loyal and
commercial theatre could possibly desire. anc e
[V. Perhaps the greatest irony in a situation bursting with ironies j
er © 8 ironies is the rej
critics are killing the theatre. e reiterat
V. We all know that when theatre people or members of th i
e public refer iti
always mean the reviewers. or to the crities,

marriage™ constitutes the case of an absolute

flective allics the
ed idea that the
they nearly

AV, IV, ILILT
B.IV,V,L 1L I
C.IV,LV,IL 11
D.ILV,IV,L1I
E.LIV,V,IL 1T

In the traditions of many religions throughout the world (including Judaeo-Chr
has long been a sustained belief that the Universe as we know it today did no:ls
past, and that there was a spontaneous act which gave birth to all that has bee
that will be. In other words, the Universe itself has not been eternal ag our sen,
first glance, ...

t|fm belicfs), there
exist forever i the
0, all that is, ang all
ses might indicate at

Which of the foll

ing options can i plete the above sentencey

A. but has a limited lifespan after its creation.
B. but our senses give us the right knowledge.
C. however, on second glance, our religious beliefs are right.

D. however, it is a ball of intense energy.
E. however, it could not have been created.

It is a curious historical fact that modern quantum mechanics began with two quite different
1 ical

lati the ial equation of and the matrix algebra of
Heisenberg. The two, apparently dissimilar, approaches were proved to be mathematically 1
equivalent.
Which of the f ing would most fully follow the above paragraph?

A. The two approaches did not start with the same mathematical formulations.

B. These two points of view were destined to complement one another and were ultimately

synthesized in Dirac’s transformation theory.

C. A third mathematical formulation given by Feynman combines the matrix algebra of Heisenberg

and Integral calculus of Leibniz. ‘
D. Quantum mechanics evolved in the twentieth century and came very close to particle physics, '
especially after the CERN experiments in Switzerland.

E. Earlier, the two formulations werc mathematically similar.

Ranu is an ordinary sportsperson. In the last two university sprint events, her performances in the

heats were pathetic.

Which of the followings, if true, weakens the above argument the most?

A. She had participated in the college swimming competition and finished last.
B. She is a national shot-put champion. ) )
C. The last two times, Ranu had to compete with national level runners. Had she been in other i

heats, she would have reached quarterfinals. ) !
D. Ranu was the only player who represented her college in the sprint events.

E. In the college sprint events, Ranu always won.

Identify the correct sequence of words that aptly fit the blanks in the following passage. |

sed had. (i) from all criminal activities
of a sanyasi. However, despite repeated requests from the counsel
) a lie detector to ascertain the truth.

Itis (i) that the accu!
by adopting the @iv)
for prosecution, the court has ____

A Qi 4, (i) fei ned, (iii) scparation, (iv) deportment, ) prlescribed
B. 8 ::g::d Eii)) foécd. (i) parting, (1) deportment, () proscribed

C. Gy implied, (i) faked, i) separation. () demeanour, (v) proscribed
D. (i) implied, (i) feigned, (iif) separatlor}, (iv) demeanour, (v) pres.crlbed
E. (i) inferred. (i) faked, (i) cessation, () deportment, (v) proscribed

1 shall demonstrate that there is a psychological technique which makes it

In the following pages, L .
and that on the application of this technique, every dream will reveal

possible to interpret dreams.
3



itself as a psychological structure, full of significance, and one which may be assigned a specific
place in the psychic activitics of the waking state. Further, I shall endeavour to elucidate the
processes which underlie the strangeness and obscurity of dreams, and to deduce from these
processes the nature of the psychic forces whose conflict or cooperation is responsible for our
dreams. This done, my investigation will terminate, as it will have reached the point where the
problem of the dream merges into more comprehensive problems, and to solve these we must have
recourse to material of a different kind.

Which of the followings would be closest to the ideas expressed in the first two sentences of the
above passage?

A. Overt causes can have only overt effects.
B. Overt causes have only covert cffects.
C. Covert effects have only covert causes.
D. You can’t judge a book by its cover.

E. Overt effects can have covert causes.

Read the following statements carefully:

Statement 1: If you want to understand the causes that existed in th

i i e past, look at
they are manifested in the present. at the results as
Statement 2: Murali did not work as hard as his friends but had secured 1%

P rank i
examination. k in the

Which of the following options is correct with respect to the above two statements?

A. If Statement 2 is right, Statement 1 is invalid.

B. 1 and 2are dictory to each other.
C. 2 1 1.

D. Statement 2 is a rarc occurrence and hence irrelevant.

E. Statement 1 will hold true even if Statement 2 is valid.

Analyse the following passage and provide appropriate ans N
follow. wers for questions 12 to 15 that

The understanding that the brain has areas of specialization has brou
teach in ways that reflect these specialized functions. For exampl;
specialized functions of the left and right hemispheres has led to left and right hemisph i
Recent research suggests that such an approach neither reflects how the brain "lf:SP o teachms
‘funclions once learning has occurred. To the contrary, in most ‘higher vertebr: o ow it
interact together as a whole brain with the external world. Learnin;
within the brain and between the brain and the outside world.,

ght with it the tendency to
¢, research concerning the

e ates' brain systems
g is about making connections

What does this mean? Until recently,

the idea that the i
. neural basis i . .
connections between neurons remained for leaming resided in

a speculation. Now, there is direct evidence that when

4

learning occurs, neuro-chemical communication between neurons is facilitated, and less input is
required to activate cstablished connections over time. This evidence also indicates that learning
creates connections between not only adjacent neurons but also between distant neurons, and that
connections are made from simple circuits to complex ones and from complex circuits to simple

ones.

As connections arc formed among adjacent neurons to form circuits, connections also begin to
form with neurons in other regions of the brain that are associated with visual, tactile, and even
olfactory information related to the sound of the word. Meaning is attributed to ‘sounds of words’
because of these connections. Some of the brain sites for these other neurons are far from the
neural circuits that correspond to the component sounds of the words; they include sites in other
areas of the left hemisphere and even sites in the right hemisphere. The whole complex of
interconnected ncurons that are activated by the word is called a neural network.

In carly stages of learning, neural circuits are p ly, and weakly. It is
like getting a glimpse of partially exposed and blurry picture. With more experience, practice,
and exposure, the picture becomes clearer and more detailed. As the exposure is repeated, less
d to activate the cntire network. With time, activation and recognition become
relatively automatic, and the learner can direct her attention to other parts of the task. This also
explains why leamning takes time. Time is necded to establish new neural networks and connections
between networks. This suggests that the neural mechanism for learning is essentially the same as
the products of learning. Learning is a process that establishes new connections among networks.
The newly acquired skills or knowledge are nothing but formation of neural circuits and networks.

input is neede

It can be inferred that, for a nursery student, learning will ...

A. comprise pieccmeal ideas and disconnected concepts.

B. be a pleasant experience due to the formation of improved connections among neurons.
C. lead to complex behaviour due to formation of new connections among neurons.

D. be better if discrete subjects are taught rather than a mix of subjects.

E. be a happy experience.

Read the following statements and answer the question that follows.

1. The two hemispheres of the brain are responsible for learning autonomously.

11. Simultaneous activation of circuits can take Place in different areas of the brain.
11 There are specific regions of the brafn associated with sight, touch and smell.
IV. The brain receives inputs from mull'lple external sources.

V. Learning is not the result of connections between neurons.

Which of the above statements ar¢ consistent with ideas expressed in the passage?



C.IL Vv
D.IV,V
E. 1 IL, 111

Which of the following proverbs best describes the passage?

A. When student is ready, the master appears.
B. Child is the father of the man.

C. All’s well that ends well.

D. You can’t teach old dog new tricks.

E. Many a mickle makes a muckle.

A father and son aged 60 and 25 respectivel. i
ly, have been learnin aglidi i i
Based on the passage above, which of the following would be mli"’panghdmg for quite some tme.

A. The son would always learn more.

B. The father might learn more, if both of them started at the same time.

C. The son would learn more, if both of them started at the same time. .

D. If both of them have been learning since the age of 15, the son wm’:ld le

E. Both of them would always progress equally. am more.

Analyse the following passage and provide appropriate
follow. P answers for questions 16 to 19 that

Certain variants of key behavioural genes, “risk allele” make people more vulnerable t

od, hiatric, or ity disord . able to certai
mo : Y f‘C O‘Ar e : AAn allele is any of the variants of a gene that t: km
more than one form. A risk allele, then, is simply a gene variant that increases ' thal takes
developing a problem. your likelihood of

Researchers have identified .a dozen-odd gene variants that can increase a person’ s

dep anxiety, and t ial i or violent beh N andpothgn s SuSCCp[lbl.]i(y to
only if, the person car.rymg the variant suffers a traumatic or ;lressful ’hﬁrﬂblems—lf, and
particularly trying experiences later in life. This hypothesis, often called th f ildhood or faces
“genetic vulnerability” model, has come to saturate psychiatry and behavicur:1 S

stress diathesis” or
cience.

Recently, however, an alternate hypothesis has emerged from this onc i
This new model suggests that it’s a mistake to understand these “risk":’nd ;
According to this new thinking, these ‘bad genes’
contexts—but they can also enhance function in favour:
negative cxperience that the vulnerabili
d ide of a bigger pt a

S turning it inside out.
genes only as liabiliti
ities.
:2:1 create dysfunction in unfavourable
e cor i
Y bymoreete .,,nle{(‘l.s' The genetic sensitivities to
; ] , it follows, are j
genetic sensitivity to all expcrienceY €t the

heiol

This hypothesis has been anticipated by Swedish fi i
4 ! ok wisd i
“d.andelmnj’ children. These dandelion children—equivalent to ou’?-Tn;h‘dl bas long spoken of
w.mh “resilient” genes—do pretty well almost anywhere, whether ra; mal or “healthy” children,
sidewalk crack or a well-tended garden. There are also “orchid” childr‘cSCd ‘: the cquivalent of a
N, who will wilt if j
ignored

6

larly with g care. According to this orchid hypothesis, |
nerability becomes plasticity and responsiveness. Gene variants

or mal d but bloom sp
risk becomes possibility; vul

generally considered misfortunes can instead now be und d as highly 1 ged evoll y
bets, with both high risks and high potential rewards.
In this view, having both dandelion and orchid kids greatly raises a family’s (and a species’) 1

chance of succeeding, over time and in any given environment. The behavioural diversity provided
by these two different types of temperament also supplies precisely what a smart, strong species
needs if it is to spread across and dominate a changing world. The many dandelions in a population

orchids, hile, may falter in some

provide an underlying stability. The 1
environments but can excel in those that suit them. And even when they lead troubled early lives,
some of the resulting heightened responses to adversity that can be problematic in everyday life—
increased novelty-seeking, restlessness of attention, elevated risk-taking, or aggression—can prove
in certain ct ing situati wars, social strife of many kinds, and migrations to
new cnvironments. Together, the steady dandelions and the mercurial orchids offer an adaptive
e alone. Together, they open a path to otherwise unreachable L l

flexibility that ncither can provid
individual and collective achicvements.

The passage Suggests ‘orchids’:

A. are insufficient in number.

B. are limited to grecnhouses.

C. end up weaker as compared (0 dandelions.
D. thrive in anaesthetised conditions.

E. are always too delicate t0 survive. 1

Which of the following statements correctly echoes the author’s view?

e end up being self-destructive and antisocial.

d’s phenomenal adaptability and evolutionary success.
d poor parenting, all children will have a normal life.
vulnerability need not necessarily be sociopaths.
d but are also

A. Persons carrying risk allel
B. Orchids possess ‘humanking
C. With a bad environment an
D. Children born with genetic bil ;
E. Genes not only makes you sensitive to
societies.

ible for failures of

The word *diathesis’ means:

A. susceptible to disease
B. two-pronged hypothesis
C. connected with two kidneys

D. missing parts of the body {
E. living in two different environments



19.  Mr. Good and Mr. Evil wert
9 d Mr. E ‘¢ batch-mates durin; ive years after graduating, Vi
7 1 g the college. Five year: ing, Mr. Evi
was put behind bars for fmar}cial fraud while Mr. Good was n‘mning‘a succre 3il “N‘(‘ 3( ), wor. kil ,gl
for orphans. Mr. Good was raised in a protective environment while Mr. Evil o 1f- e
3 was a self-made man.

B : . .

ased on the above information, which of the following stateme: ?
N g statements is defini

nitely correct?

A. 1t can be con ilisa* i

ol oncluded that Mr. Evil is a ‘dandelion’, but nothing can be concluded about Mr.
B. It can be concluded that Mr. Evil is an ‘orchid’ i

! g;,i{t can be concluded that Mr. Good is Z"‘::;ic’i:fil;?’m:::gn::i:e o e abou M. Good

! i i g can be concluded about Mr.
| D. It .can be con.cluded that both Mr. Good and Mr. Evil are “orchid’

! E. It is not possible to conclude about ‘children typology’ of 10}:: t:cvlo‘b
| atch mates.

Analyse the following passage and provi
] vide i
follow. provide appropriate answers for questions 20 to 23 that

| Alone - he was al in - i
‘ aone, alone again - again condemned to silence - again face t .
| one! - never again to see the face, never again to hear the voice of tho face with nothingness!
X . -, of .
1 united him to e;nh!' Was not lFanas fate the better, after all - to solve :h:“Iy human being who
1‘ sm;rlte, even at the {1sk of horrible suffering? The idea of suicide, which his r(l.)l'ohlem of life at its
and kept away by his cheerful presence, now hovered like a phantom over th ”cbn;i ped driven away
he abbe's dead bod
ly.

| « e g
! f I.cou]d die,” he said, “I should go where he goes, and should
4 to die? It is very easy,” i ] assuredly find hi i
e doorf);ianY-le:§ went on with a sm}le; T will remain here, ruJ;h on :ll;m again. But how
| P . strangle him, and then they will gillotine me.” Bu oxcossi ° first person that
at sz?a. where t@e frail bark is tossed from the depths to the top of tt xcessive grief is like a storm
tbe idea of so infamous a death, and passed suddenly from despai he wave. Dantes recoiled from
liberty. lespair to an ardent desire for life and

«Die? oh, no,” he exclaimed — “not die now, after having i

Die'.? yes, had I died yefxrs ago; but now to die woulé“if“{l:ge:';d :Uff.ered s0 long and so much!
des_tmy. No, T want to live; I shall struggle to the very last; I wili ° glV.c Way to the sarcasm of
which I have been deprived. Before 1 die T must not forget ;hatl h: Yot win back the happiness of
a.md perhaps, too, who lfnows, some friends to reward. Yet they Wi];i e my excoutioners (o punish,
in my dungeon ]Alke Faria.” As he said this, he became silent and gay foreet e here, and I shall di‘;
9ve::whe[med with a strange and amazing thought. Suddenly he agaLCd .slra|ghg before him like one
if his brain were giddy, paced twice or thrice round the dun, ose, lfted his hand to his brow
bed. geon, and then paused abruptly by ‘:Z

“Just Gocli!” he mu.lterzd, “whence comes this thought? Is it from thee? S;
]-)ass fr.ee y f.rom tk.u‘s dungeon, let me take the place of the dead!” With. Smc.e‘mme but the dead
reconsider his decision, and, indeed, that he might not allow his thoughto‘Jl ilvmg himself time to
s to be distracted fi i
om his

desperate resolution, he bent over the appalling shroud, opened it with ki
he knife which Fari
ia had

8

20.

21.

22.

23.

made, drew the corpse from the sack, and bore it along the tunnel to his own chamber, laid it on his
ht around his own, covered it with his ~

couch, tied around its head the rag he wore at nig
counterpanc, once again kissed the ice-c
glared horribly, turned the head toward
cvening meal, believe that he was aslecp,

s the wall, so that the jailer might, when he brought the
as was his frequent custom; entered the tunnel again,
drew the bed against the wall, returned to the other cell, took from the hiding-place the needle and
thread, flung off his rags, that they might feel only naked flesh beneath the coarse canvas, and
getting inside the sack, placed himself in the posture in which the dead body had been laid, and

sewed up the mouth of the sack from the inside.
How was the protagonist planning to resolve his problem?

A. To give up and surrender.

B. To commit suicide in the dungeon.

C. To fight the jailor and escape.

D. To kill those who came to carry the corpse.
E. To exchange places with the dead.

Which one of the following options is nearest in meaning to that implied by the phrase ‘sarcasm of
destiny” in this passage?

akes one a laughing stock.
B. Destiny ultimately asserts itself.

C. Triumph of the struggles gone through.
D. A mockery of the forces of destiny.

E. Let the cnemy have the last laugh.

A. Destiny m

Among the options given below, which phrase specifically captures the change of mood of the

protagonist?

A. To be or not to be
B. Despair and hope
C. Depression to daring
D. Darkness to light
E. Loathing to yearning

Words Related Words

i. Counterpanc a. Burial

ii. Dungeon b. Bed )

iii. Guillotine c. Execution

iv. Shroud d. Cell

Which of the above ‘related words’ on the right-hand side are correctly matched with ‘words’ on

the left-hand side?

old brow, and tried vainly to close the resisting eyes, which ,
k




24.

25.

A. i-b, ii-d, iii-c, iv-a
B. i-a, ii-d, iii-b, iv-c
C. i-a, ii-d, iii-c, iv-b
D. i-d, ii-b, iii-a, iv-c
E. i-b, ii-a, iii-c, iv-d

Analyse the following passage and provid, i
follow. provide appropriatc answers for questions 24 and 25 that

Creative thinking can be uscd b;
y management teams to prod i
> A © use luce actions that will i
increase and identify Brai ing i will potentially
as 2 nd 1d Pp ming is one techni 4

creativity. .Bramstonmng is usually regarded as a method to be used wl'?:e o can ehanee
{\llllough, it can bf’ employed with individuals, the benefit of involving i of people.
idea can help to stimulate even more ideas by other group members, 814 BIOUP IS that one person’s

pndcrlying brainstorming is the idea that people’s creativity is restricted b

ideas at too early a stage. This can be because they may be imposing i °03}|se they tend to reject
prob!em or makurg false assumptions. Alternatively, they ma)’ie ‘:f l1)rlnalglnary constraints on a
mfﬂ_“P'e perspectives or they may be stercotyping problems and ave o seo a problem from
failing to see their wider potential. Involvement of people with di possible solutions and hence
idea generation. ith different perspectives enriches the

Pick the option that best captures the relationship between the two
Pparagraphs above,
A. The first paragraph describes a technique and the second is a
B. The first paragraph describes a process and the second para; . e:am
C. The first paragraph describes a technique. The first part o%'r;\p .
and the second part of the second paragraph makes untested claj -
D. In the first paragraph, the author conveys the understa; d‘ms‘
paragraph the author complements the first. mein
E. In the first paragraph the author describes a technique and j
provides explanation of its advantages. d in the

ple that supports it.
ntradicts the description.
cond paragraph contradicts it

8 of a subject and in the second

second paragraph the author

Which of the following options would be closest to the main
above? rgument in the second paragraph

A. Viewing students as customers, future alumni, brand amb
would make engineering collcges more successful. assi
B. Good students, after completing the MBA, should p|; .
become successful leaders. Pay mult
C. India does better in team sports like cricket than in individ, |
D. All departments of the organization, including markelinua X
ideas for improving customer satisfaction. &
E. Compared to small entrepreneurial firms, large organisations will defy

efinitely gencrate more ideas.

a .
dors, potential recruiters etc.,

le r i
ple roles in ap organization to
ports like Swimming

should gjye
d give inputs 1 gencrate new

10

-

27.

28.

Analyse the following passage and provide appropriate answers for questions 26 to 28 that

follow.

For private goods, competitive markets ensure despite the lized nature of the
logi licitly, market ition solves

information about individual’s tastes and firms' p
adversc selection problems and the fixed-pricc contract iated with exog prices solve
moral hazard problems. However, markets fail for pure public goods and public intervention is thus
needed. In this case, the mechanisms used for those collective decisions must solve the incentive
problem of acquiring the private information that agents have about their references for public
goods. Voling isms are particular i i hanisms without any monetary transfers for
which the same question of strategic voting, i.e., not voting according to the true preferences, can
be raised. For private goods, increasing returns to scale create a situation of natural monopoly far
away from the world of competitive markets. When the monopoly has private information about its
cost or demand, its regulation by a regulatory becomes a principal-agent problem.

annot be excluded from use and where use by

Public goods are those in which individuals ¢
while an individual can be excluded in case of

(Note:
duce availability to others,

one individual docs not re
private goods.)

For which of the following goods, can markets not be efficient?

A. Packaged water
B. Elcetricity supply at home
C. Air

D. Petrol

E. All of the above

luded from the above p: h?

Which of the following cannot be
nacea when market fails.

A. Public intervention is the pal
as well as moral hazard problems may not arise in competitive

B. Adverse selection problems
markets.

C. Strategic voting is not
D. Lack of access 0 prival
E. Public regulations may ad

tary incentive
rding prefercnces of agent leads to incentive problem.

d with natural poly.

hing but a n
te information regas
dress P!

Read the following statements carefully:
Statement 1: In India factories dump their waste in the nearby water bodies.
is thinking of granting tax benefits to factories which adopt eco-friendly

Statement 2: Government
practices.

— rc——




‘ Which of the following options best captures the relati

2?

A. Statement 1 is an example of market failure and S
2

ip between S 1 and

B. Statement | is an e;
. xample of * :
‘moral hazard problem’. ’ adverse selection problem’

C. Statement 1 is an ex
ample of il i
| Pmble 4 Ip| market failure while Statement
D. Statement 1 is an ex:
ample of public
. mple of good and St i

E. In Statement 1 the principal is “factory’ and in St:ttcmem b

lement 2 thy

i
|

corrob
1

and Statement 2 is an example of
2 s
suggests one way of reducing the

an e.xar.nple of private good.
€ principal is ‘government’.

29.

30.

31

Section B: Decision Making and Analytical Reasoning

Answer questions 29-32 on the basis of information given in the following case.

The Disciplinary Committce of National Political Party (NPP) is mecting today to decide on the
future of two of their party ‘members, Mr. Loyal and his son Mr. Prodigal. Mr. Prodigal is the prime
accused in the brutal murder of Mr. Victim, an opposition party leader. Mr. Prodigal is in police
custody and his appeal for bail has got rejected. Mr. Loyal claims that his son is innocent and Mr.
Victim’s death was the result of internal rivalry in the opposition party. Though Mr. Loyal is not
accused in this case, his weakness for his son is well known. The media is blaming him for
influencing key witnesses to protect his son. Severe criticism of this father-son duo, both by the
media and some social activists, is damaging the image of the party. However, Mr. Loyal has
significant followers within the party and is considered an asset to the party. Any harsh decision
against Mr. Loyal would adversely affect the future of NPP and could even lead to a split in the

party. This would benefit the opposition.

Which of the following actions would adversely affect both NPP and Mr. Loyal, the most?

A. Take no action against Mr. Loyal.

B. Suspend Mr. Prodigal from the party with immediate effect.

C. Expel Mr. Loyal from the party with immediate effect.

D. Ban Mr. Loyal from entering party premises till completion of the court proceedings.
E. Initiate an internal inquiry to find the truth.

ttce meeting, members came up with the following suggestions. Which

At the Disciplinary Commil
ould harm the party, the least?

of the following suggestions W

A. Maintain status-quo-

B. Expel Mr. Prodigal from the party with immediate effect to maintain party’s clcan image.
C. Initiate an internal inquiry £ find the truth.
D. Suspend Mr. Prodigal from the party with jmmediate effect but announce that he will be taken
back if the court declares him innocent.

E. Suspend both Mr. Loyal and Mr. Prodigal from the party with immediate effect.

takes his claims to be nominated as an NPP candidate

veteran member of NPP, s
presented the following arguments in favour of his

lection. Mr. Opportunist
utive Comumittee.

Mr. Opportunist, 8
in the upcoming ©
candidature to the NPP Exec
s candidaturc in the upcoming election will a dversely impact NPPs
he party should not nominate him.

Id call a press conference to disown Mr. Loyal. This would enhance

1. Mr. Loyal’
chances. Hence, t
11. The party shoul
the party’s image.

111 The party would not be able to take any strong disciplinary action against Mr.
Loyal, if he gets re-clected. .
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IV. Ihave a lot i -
V. Nom ot of goodwill and significant followers in the constits
f e of my close relatives are into active politics. stiuency.

Which of the following bi

ions woull h
ould best g the claim of Mr. Opportunist?

A 1&II
B.I&IV
C. &I
D. I &V
E IV&V

The Disciplinary Committee ha: i

was i}lﬂucncing the judicial procs:cds?l;ii/:/suspcnd b
is l?elflg framed. Now, election has been a:r’ o Loyal
majority on account of his good work. Whj l‘;‘o““ced- "
Mr. Loyal’s immediate political career'; eh o the fol

Loyal from the party because they felt he

oe l.asl umle. Mr. Loyal had won with a
Wing options is most likely to resurrect

A. The main opposition party has invited M,
Chance of winning is high. "
B. Not participating in the i

campaij H .
campaigning process. paen and instruct;
C. Ask his followers to support the NPP nomin:
D. Mr. Loyal should contest as an indepcndated
chances of winning would be low. ent
E. Influence the nomination process throy,
associates nominated.

Loyal to joij
yal to join the party and contest the clection.
ng his followers to stay away from the

ccar:ﬁlidate and display his loyalty to NPP,
andidate. But because of a split in votes, his

gh hi ithi
is followers within NPP, to get onc of his close

Answer question 33-35 on the basis of information given in th
in the following case,

Bright Engincering College (BEC) has listed 20 electj
have to choose any 7 of them. Simran, a student nt‘e};]tilée
:Z(C:::‘\:::: Job-orllenlid (), Quantitative-oriented Q an’d Grad
, some electives are bol ade-or
0. O type clectives are bmhlilo-{)‘?:maing Grade-oriented byt are ;Z‘:":Qd (G)" mong these 20
: b uantitative-orj uantitative-ori
¢ electives are both i 5 i riented b o
:z:t clectives ar bot gugr}h:anve zlmd.(,,—ad.e -oriented but are no‘:(]a:: not Grade-oriented and QG
number of QG type electives y‘pezel ectives is 2 less than QG ty co-oriented. Simran also notes
across three categories. Furth is 2 less than JG type ang there ispe TICCHVC& Similarly, the totl
only Job-orient i Jecti ermore, the number of only Quﬂntitat'on v 1 common elective (JQG)
w -oriented electives, b.ut less than the number of Hve-oriented clectives s same as
eecuye l.las at lcast one registration and there is g | only Grade-orienteq electives. E;
combinations of categories. cast one elective in each e
category, or

course:
noliCcsst :ar the next term and students
at there are threc categorics of
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On her way back Simran met her friend Raj and shared the above information. Raj is preparing for
XAT and is only interested in Grade-oriented (G) electives. He wanted to know the number of G-
type clectives being offered. Simran replied, “You have all the information. Calculate the number
of G-type electives yourself. It would help your XAT preparation”. Raj calculates correctly and

says that there canbe __ possible answers.

Which of the following options would best fit the blank above?

A.3
B.5
C.8
D.9
E. 11

ants to avoid Q-type electives. She noted that the number of
only J-type electives is 3. Raj’s preference is G-type electives followed by Q-type electives.
ke as many common electives as possible. What is the maximum number

However, they want to tal
of electives that can be common between them, without compromising their preferences?

Simran prefers J-type electives and i

.7

E. Not possible to answer from the above information.

Vijay is interested in J-type electives and wants to avoid
pe electives followed by Q-type electives. Raj noted that
2. 1s there a possibility that they would not share any

nt to avoid cach other.
Raj’s preference is G-ty
ype electives is

Vijay and Raj wal
Q-type electives.
the number of only G-t;
common clective(s)?

A. Yes. There is @ possibility- )
B. No. They would meet in one elccuye: .

C. No. They would not be able to avo_ld in two electives.
D. No. They would meet in five electives.

E. Cannot be solved with the information given.

Answer questions 36-38 on the basis of information given in the following case.
sional, came early to office to assist his boss in the

a young IT profes:
ation. When hc switched on his computer, he saw an

rtant client present
il was as follows:

Mr. Dipangshu Barua,
preparation for an impo!

email from Mr. Ppatcl. The ema
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T

Dear M I 5
r. Barua, January 2, 2015

This email serves as a -

aleeady conveyed ncedf?:ioi‘r\rl:;r};:ef,.my conversation with you on December 1, 2014. I have

a"'d colleagues. They are yet to noliclem i l?CI“'Viour as desired by mn" To' c‘! leader

fiiluretoract may;wary € any visible improvements. | am u[))prycllcnls)i!vicllml )"Our

months :iols:clzm I will continue to monitor and

ike to re-ufﬁrn:]:;:vnc whether improvements meet
at you arc very valuable for our

ant further acti i

fail A ion leadi

assess your performance over the next thye =
e i "

the cx‘peclatmn& At the same time, [ wo, Id

organization. : -

Best Wishes,
Mr. A. Patel
HR Director

Initially, the ¢-mail distrac i
f 2 ted Dipang
S g angshu but he decj ded
options might best explain his decision to d M ? e focus on the b ‘
0 507 S on the job. Which of the followi"

A. Mr. Patel would soon be tr;

o ansferred to g
B. I_fxst week, Mr. Dipangshu has been assi"0
C. Three days back, Mr. Dipangshy } o
engineering project. ;

ther departmen
ed 10 a pe i
W team in the same project

cen assigneq
N A NeW proicet <im: ) -
D. His fricnd has been hospitalized for (he Tast project similar to his final Y64
St three mog,
nths,

as by

E. Failing to perform i i rthe; t
rm in the client meeting mighy g, th
1er complic,
ate things

The scheduled presentation went off smooth]

once more and pondered over it, During th, y. Back in pig cabin,

but Mr. Patel had not allowed himm o grr, - tn
sp

again but was doubtful whether that woy|,
- u

g he tried 1 Dipangshy read Mr Patel’s ¢-m!
cak. Dipangsh, was ‘_a@ 0 put forward his explanatio®
a comparable salary. If Dipangshu wag d_l‘clp. Incidenty) s] thinking of mecting Mr. Patel 01

s : i i g Mr.
two weeks. However, he cannot think ufo Jl‘?ll"n the new o, 11yc l:cdhdd ajob offer from a start-up Wit
alife withoyg 5 ; ad 1o ace NG oxt
ita job, pj ept the offer within the 1
b of the : ) . Dipay
Which of the following options would be i Pangshu was confused!
St move f
: or Din
A. Talk to Mr. Patel " Dipangghy)

other jobs. and highlight the intiatiyeg p
B. Reject the offer from the start-y, 45 taken bug 4 the same time start applying ©"
the present job. AUP- Use the next hye, y ime start applyn&
€ Resign from this organization righ ng oS 1o find better job, but contint® in
D. Accept the offer, only if the start.up gi“v;s ok i

Sal

Accept the offer with a request to gi
S ve

ary hike, ¢)

him a 109, sl se keg,

et P prog,
a a Specting,
After a couple of weeks, Mr, P; "V hike, pecting.

atel came o know

competent s .
mpetent senior executive, may hay,

€ wilful]

o

that Djp,
infl 'Pangshy, Broi
uenced g Ject leader Mr. John, &

lea - y
M members to file @ wrong

very
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complaint against Dipangshu. Mr. John may have done it because Dipangshu has refused to tow
John’s line. Mr. Patel also came to know that Dipangshu was thinking of quitting this job. He felt
regretful about his letter (o Dipangshu. He wanted to resolve the complicated situation. He was

contemplating following five actions in his mind.

1. Talk to Mr. John about Dipangshu and convey to him that losing a bright employee

would cost the organization dearly.

1L Catch up with Mr. John during coffee breal
good track record.

111 Chat with Dipangshu during coffee break.
IV. Catch up with Dipangshu during coffee break a

k and convey that Dipangshu has a very

nd convey that the organization

values him.
V. Arrange a meeting among Mr. John,

differences.

Dipangshu and himself to sort out the

Which of the following is the best sequence of actions for resolving the problem?

JLIOLV
1L 1L V
CLIL IV

w >

w o0
=
<

Answer questions 39-41 on the basis of information given in the following case.

Boring started an oil refinery business. Their annual carning is
Ilion rupees. They arc now exploring various options to improve the
business. Mr. Xanadu, & salesperson from Innovative Technology Solutions (ITS), is trying to sell
a new oil refinery technology 10 Mr. Arbit and Mr. Boring. This technology could potentially
enhance their annual carning to 150,000 million rupees within a year. But they have to make one-
time investment of 100,000 million rupees to implement the technology. 1f the technology is not
successful, the investment would be lost. Mr. Arbit and Mr. Boring are discussing about possible

risks of the investment.

A few years back Mr- Arbit and Mr.

currently just 50,000 mi

estment idea but Mr. Boring is a little sceptical. This impasse

ic about this inve
The consultant makes some observations. Which of the

ultant.
y the consultant, might reduce Mr. Arbit’s enthusiasm for the new

Mr. Arbit is enthusiast
makes them nppruach a cons
following observations, made b;
investment idea?

only when benefits outweigh costs.

e higher carnings in future.

duction of costs in the long run.

A. Investment i warranted
B. Technology irtvestments giv
C. Investment 10 {echnology leads to Te
D. Technology risks can be controlled. ¥
E. Business is all about taking risky decisions.

17
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41.

n order to sell the technology to Mr. Arbit aj 0] of five
cl tecl gy t . Arbit r. Boring, Mr. Xanadu is thinking 05!
t hi Mr. A d M 2 five possible

sales pitches. Which of the followi i
s owing sal
Prhion. oo g sales pitches would reduce uncertainties the most for Mr.

A. Allo i i i o,
2 t?crlcm?pcmors are aggressively investing in risky technol gi
B. If the technology succ: i Yo
gy eeds, the annual earnings would grow 3 times from tl fi ial
m the next financial year

Eﬂd thc.y would be able to recover the invested money withi a3
reliming il ithi i 3
D’ 'l]"lhd‘;l:&n];w studies indicate that success rate of the techm 1l i
. The team of ITS is workin nology is 85%
8 8 g to counter an 5 A o
E. Business is all about taking risky decisions Y possible downside of the technology.
Mr. Arbit and Mr. Boring di i
. g did not invest in
- the n
success. Repentant, they are now estimat; oW technology, but is a bi
forgone earnings) had they invest estimating the additional am:;u t ;hc T e eoned l'jlg
el e s s]cd in the new technology. Ho, nt they would have carned (ie
ccl s s ever, ers differ
Boring expected it to be 2 yca;:m:iy. Mr. Arbit expected lifesp::l‘ :1‘1“”0 oy dlffc"Cd]\’(;:
business would drop back to 50,000 m‘l:r the technology gets oy danod cl5 o whe;cam the
X illion rupecs, -dated, the carnings from the
What would be the differe
nee betweey
techology investment, ifyc;|r|y Cla:lv.vun two expected foregone ¢arni .
Nings are deposited i a bank (L> :““““BS B .
Note: Forgone Eamings = (Fami ANk @ 10%, compounded annually?
. ] S “arnings fi .
business without new technology) 85 from buginess with i
W technology) — (Earnings from
A. 231,200 million rupees
44,

B. 331,000 million rupees
C. 400,510 million rupees
D. 431,000 million rupees
E. 464,100 million rupees

Answer questions 42-45 on the bagjs of informyg;
Aion given ;
n the fol

Life Saving Pharmaceuticals (LSP) s owing case.
3 n

mostly revolves around a couple of geney;

L Ti
countries and more than 50% of their s g
cs

India-bageq
drugs ang ,
Vvolume jg oo

Pharm, $ .
N pataccu(mal company. Their pusincss
ce °“‘s:‘led drugs. 1.SP operates in 30 ©
If morc than 50% of their sales volume is ide Indiq,

C 1S Tom

definitely correct? (Note: All percentages f generic drugs, ypi
Jigures are yyjyy, re: S Which of the following options 5

- 51 d
A. If sales volume of patented drugs in Ingi, Pect 1o total sqles volume)

be less than 43%.
B. If the sales ‘volllrr?c u.f generic drugs in forej
patented drugs in India will be above 249 Cign Countrieg ;

C. If the sales volume of patented dry, c' S at leagy 240
foreign countries will be above 549, ’

is 43%,
> 1€ saleg :
Volume of generic drugs in Indid will

f

g5 in Ingi ; the sales volume ©
a is 540,

0,

the
sales ;
© volume of generic drug® o

18

D. If the sales volume of patented drugs in India is 29%, the sales volume of generic drugs in

foreign countries will be above 29%.
E. If the sales volume of generic drugs in India is at least 60%, the sales volume of patented drugs

in forcign countries will be above 60%.

Mr. Sinha, a senior exccutive of LSP, observes that their business in India is not vibrant. LSP faces
stiff competition from Indian and global players, except in rural areas. Interestingly, most of their
sales in the rural arcas are from cough syrup, used as scdatives by teenagers. Mr. Sinha is planning

the following actions to improve business in the long run.

1. Invest in development of new drugs.
1. Increase sales of cough syrup in the rural markets.

111. Try and cut costs.
IV. Recruit more medical representatives in the rural arcas.

Which of the following sequences is best arranged in the descending order of appropriateness?

ALIIL I
B.IL L1
C LTI
D. IV, 1L 11
E IV, ILT

HR head of L.SP, is contemplating of transferring Mr. Jose, from India to their
Luxembourg office. Mr. Jose’s wife is also with the HR department of LSP. The couple is
d within next four months and hence they want to be together. Mr. Rastogi
Jose would accept the transfer. If he doesn’t, Mr. Rastogi would have ;o
¢ this job as carly as possible The office in Luxembourg is very
It is at its nascent stage and does not yet have an [lf{

Mr. Rastogi,

expecting their first chil
is wondering whether Mr.
d a less competent person for
pany’s future.
t possible to transfer Mrs. Jose to Luxembourg.

sent
important for the com|
department. Hence, it is nof
Which of the following options would be most appropriate, from the organization’s perspective, to
resolve the issue?

A. Giving a salary hike to Mr. Jose with a promise to transfer Mrs. Jose to Luxembourg in the near

future. L
B. Giving Mrs. Jose option to work from home while in Luxembourg so that she can be with Mr.
Jose. . B o
C. Giving Mr. Jose option to work from India for the time being so that he can be with Mrs, Jose in
India. X .

0 Mr. Josc to compensate for Mrs. Jose’s salary so that she can join Mr.

D. Giving a salary hike t :

Jose at Luxembourg, even with loss of pay- e

E. Asking Mr. Jose 10 accept the offer right now but give him up to six months to join Luxembourg
office.
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Mr. Khan used to wq
. ork as the Vi resi
bt for e DA e Yoﬂlcel President of LSP India. However, | i
brinpe l, n the meantime, his wife was S R
[ § ) y v
?'Vuhm the organization. Mrf Kll:zrd i g o a::“mf:d o b e
i e i K an vas Kby o s quite popular and respected
- Mrs. Khan is considering the folluwing Shc L e
actions:
I. Take a break for i ‘
a the time bein,
g and focus
Ia]]w(ziys get back to the same job, il‘requ;)rC:5 iy
- s e
Aﬁcjlo‘I(()‘N:w York, on leave without pa 1
r that she can come back
s hat she and resume her re: sibility i
» Rc(:i est) r. Khan to look for an equivale fPOﬁblblllty ISR Tadia
. _R gn from LSP India, join Mr. Khan j; vaOb e .
. cquest LSP India for a similar posj i e
M T position in 1|

personal 1i i
ife. Given her reputation, she can

y for two
months to help Mr. Khan settle down.

York, a
Pl L;sd;:dvlook for a similar job there.
and follow Mr. Khan to New

Which of the following s .
her work-life balance'zg sequence of actions can be immediately tak,
aken by Mrs o

A1&II Y Mrs. Khan to maintain
B.1& 1T

C.1&IV

D.II&V

ENI&V

Answer questions 46-48
-48 on (] asi; i
he basis of information gi
Ven in the f
¢ followin,
g casc.

S:Ii:;i;:a\l»m: a[f.opulm' fast-food joint at Cop
siness alonc. His sons, Ram and Kj. naught Pl
i ace, Delhj

; fuigi 4
incss afler nitially Mohan handled his

shan, joi

5 Joined the p,
us

raduating from college. RamM

was entrepreneurial in nature. S
4 . Subseque
Mohan had chosen Ram to head 111::3“{“1),’ another brap,
he had stopped using premium qualit anipat branc,, Thou;] ;’{f Mohan’s was opened in Panipa!
s g0 i . Y organi h : cd in Panipa™
Kishan were not happy with his way ofdo;g,:;: Vegetables, the :"ﬂ l_"Cl’cascd sales in a short time
Usiness ? Peciality of
; Mohan’s. Mohan and

Now, the foremost
iy st challenge for M
) : ’ . ohan
replacing Ram with Kishan was difficult o sort ony thi
as Kishy 'S dssue wi
s With Rar

m. Mohan knew that

a

frechand to Ram might have long term N did noy
negatiy, Vant (o |
cav

i S DR T
MSequences, o ¢ Delhi. However, giving
N ng

future course of actions.
he

an was confused about !

Mohan so 3 f five
n sought the help of five consultants, yj,
S, Who gave g f
Ollowing
€ opinion,
s:

I. Organic vegetables might be g p;
i

:lslrgumc vegetables is low among Pan'g Fleonss,ay Co
e i i . &
The Connaught place mode] cq Pat customey, HAUght plac S
L gan b s ¢ but awarcness aboU!
plemen
ted j
n P,

prepared to face th
¢ the consequences,
‘anipat i ‘
at provided the business s
he business

47.

48.

I1I. Many high end restaurants in Panipat use organic vegetables. So using organic
> g

vegetables will not be a differentiating factor.
IV. Selling prices -of their dishes in Pani igni i

pat are significantly lower. U rgani
vegetables will bring down profits. 4 G

V. Premium quality organic vegetables are not easily available in Panipat

Which of the following set of options would support Ram’s argument of not using organic
S g

vegetables?

A LTLIV

B.1L1V,V

c LIV, V

D.IL LIV, V

E. All of the above

Mohan sought feedback from a few of his businessmen friends, who were familiar with both the

branches. Here is what they said:

Businessman 1: Customer:

n 2: Customers in

_ Businessman 3 Panipat branch doe:
maintains good hygiene and taste.

_ Businessman 4: Who knows, tomorrow
what Connaught place customers appreciate today!

s of Connaught place and Panipat arc very different.
Panipat are extremely happy with Ram’s behaviour.
s not use the same quality of ingredients but

- Businessma

the customers of Panipat might also appreciate

1f Mohan thinks all {hese are valid concerns, which of the following actions would be best for the
business?

ce Ram in a few months.

dients as long as business grows.

ht place branch.
and changing it back to Mohan'’s, when needed.

A. Training Kishan 0 repla
B. Not worrying about ingre
C. Bringing Ram to Connaugl
D. Naming the Panipat branch as ‘Ram’s’,
E. Asking Kishan to rutt the Panipat branch.

a few customers, Mohan realised that compromising on the quality of
be a good idea but at the same time he also rcz\liscd’tlnl
as contemplating following five actions. Which of the

After discussing with
anipat branch may not
had grown fast. He wi
uld be the best for the future of his business?

ingredients at P
Panipat branch
following actions WO
1 for organic vegetables in Panipat.

arcness campaigr
fier the Panipat branch.

hould look @
nipat branch.

at branch an
¢ Panipat branch.

A. Creating aw
B. Mohan himself's
(. Close down the Pa
D. Send Kishan t0 Panip:
E. Hire a new person to run th

d bring Ram to Connaught place permanently.
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Answer ions 49- is of inf
questions 49-50 on the basis of information given in the following case.

MBA entrance examination comprises two ty] r
I i i pes of problems: formula-based problems
(%PM) o th:io;f;;:(sl:n;l:dthf ﬂrlla]}/sxs of PHS(. data, Interesting School ofph(/)lill:z;n:::
okl rOIFMB: so”vmg apphcnuofx»bascd problems are entreprencurial in
praspiepisy o o bcn.lmncc exa!ns train them to spot formula-based problems
e ay, “C;. 0 (:) tf-un the required overall cut-off percentile. Thus students, in
it e bpp ion-based problems and even those with entrepreneuri i

) ik e preneurial mind-set

Half of a mark is deducted for every wrong answer.

ISM wants more students wi r i i

i illontig pr(,;;;:}:mmp‘cneu“al mind-set in the next batch, To achieve this, ISM is
1. Preparing a question paper of two parts, Part A a
zii}d P?:MA and Part B would consist o’f formul:-‘
e ‘f’a “fy;;&c;i?f?‘tely. After taking away Part A, Part B would be distyi
parts. percentile would be calculated on the combined :C:r‘;: :jl?:::vdu

d Part B of duration of one hour

II. Preparing a question pa i
i paper comprising Part

comprise formula-based pre "t A and Part B. whi
i c pl(?b]ems‘ part B would comprise ? hile Part A would
- ng a separate qualifying cuteoff perceni ¢ application-based problems.

. Assigning one mark for for; o '
based Pr:blc;s a8 ul:z'"k sor formul-based problems and ¢

incentive for attempting application.by Wo marks for application-
g 3 n-based pr

abag problems.
*-based problems and three mag. ‘:‘]SA
g this in the question paper. s for

1V. Allotting one mark for formul
based problems, without mentionin application

application-
Which of the ful%mwn.g proposal (or combination of proj is Ij
best entrepreneurial mind-set? Posals) is fikely 1o ide tify

ntify students with

AT
B.1&1l
C.1&1l
D. 11 & 11
E.NN&IV

ISM cf)nducls a common entrance examination eye,
comprise 60 questions with an equal mix of I‘('lry year. This year, the
problcl.ns. All questions would carry equal marks; ;mj‘ﬂil:based Pmblc'ms
appearing for the examination he gets the followi’n‘g i;‘]f‘:;ll 'S appearing fo, th
"Mation frop, Coachi

question paper would
and appliculiombascd
© cxamination. Before,

]. o ’ ng insti H
- Application: o‘rlcnlc‘d problems take more tj e

- Chances of silly mistakes would be | e L0 solve iy a
o) N examip;

W in app“m‘ion-bascd o ation hall.
roble;

5 ms.

based problems and application- Sk

1L ISM wouid assist the students with bank loans to start a new venture.
IV. Options are generally confusing for formula-based problems.
V. ‘Practice makes a man perfect’ can apply only to formula-based problems.
VL. Students get very good campus jobs.
Based on above information, which of the following options would help him to be better prepared
for the examination?

A L&
B.LII&V
C.IL T & VI
D.IV,V & VI
LLILIV&EV
Answer question 51 on the basis of information given in the following case.

e of Business (lIB) has decided to be the first green campus in India. 1IB
vised all campus residents to reduce carbon footprints. IIB faculty members

d came up with the following suggestions:

Innovative Institut
Administration has ad
did a brainstorming an
y source for street lights with solar panels.

buildings with environment friendly buildings.
“Towards a Sustainable Future’ involving all students, staff,

1. Replacing electricit
1. Replacing the existing
. Organizing a scimnar on
and experts irom around the country.
IV. Introducing 2 compulsory cou

rse on inability to increase among

students.

V. Conducting an init plore where I1B can reduce carbon footprints.

ial encrgy audit to ex
Which of the following options would be the most preferred sequence of actions to sediioe: catbioi
footprints on campus?

A ILIV,V
B.1V,V, 111
[AAR
D.V, LI
E.V,1L1
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d by folding a rectangle. The total area of the figure (as visible) is
le not been folded, the current overlapping part would have been
f the original unfolded rectangle?

Section C: Quantitati ili
ative Ability and Data Interpretation 56.  The figure below has been obtaine
144 square meters. Had the rectang

52: What is the sum of the following series?
a square. What would have been the total area o

-64,-66,-68, ...... ,- 100
‘ R
A.-1458 ‘ [\
oo L RN TR G | AN
C.- 1568 (f_’,—Q 1
D. - 1664 g | “
|
|

E. None of the above

A. 128 square meters
B. 154 square meters
C. 162 square meters

53.  Asolid me.tal cylinder of 10 cm height and 14 cm diameter is
the proportion of 3:4 (volume), keeping the height 10 cm, Whallnc“czi
4 woul

and re-cast into two cones in
d be the percentage change in

the flat surface area before and after?

A 9% D. 172 squarc meters

B. 16% E. None of the above

C. 25%

D. 50% $7. Find the cquation of the graph shown below. ‘

E. None of the above

54, The Maximum Retail Price (MRP) of a product is 55% ab
sold through a retailer, who earns 23% profit on his "zr t;vc its m;
(expressed in nearest integer) for the manufacturer Whl:, | asC‘ pri
gives 10% discount on MRP. sells his p

i 5
Ccnu&z/a}clulfng cost. The product is
mauct hat is the profijt percentage

to the retailer? The retailer

A.31%
B.22%
C. 15%
D. 13%
E. 11%

55 Ramesh plans to order a birthday gift for his friend fyo,
coincides with the festival season during which there g lh] an online retailer
a 2y
demangq £
or by

hence deliveries are often delayed. He esti . tuge ¢ 4
4 estimates that the Probability of «ing chemical X and chemical Y in the ratio of 5:4. Chemical X ig
of rece o e

However, the bi

, the birthday

d B, in the ratio of 1:3. Chemical Y is prepared b
M

1ying online goods and S8, Product M is produced by
ng two raw

mi
materials, A an

from the retailers A, B, C and D would be 0, L
6,0.8,0.9 and .5 respectiye]. lving the gift, in time, prepared by mixi / i fi ! h
Playing safe, he orders from all four retailers simultane, v ixing raw materials, B and C, in the ratio 0(2.:1. Then the final mixture is prepared by mixing 864
friend would receive the gift in time? OUSly. What woulg l\::;i:]sfiproducl M with water, If the coneentration of the raw material B in the final mixture is 500
c s : 9 S0%,
A.0.004 e Ripabihty;thatihis how much water had been added to product M?
B. 0.006
C.0.216 A. 328 units
D. 0.994 B. 368 units
E. 0.996 C. 392 units
D. 616 units
E. None of the above
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59.

60.

61.

62.

A circular road is constructed outside a
; squarc ficld. The perimeter of 1t i
! he square fi
width of the road is 742 ft. and cost of construction is Rs. 100 per sq. ft. Fi . o200 IMthe
to construct 50% of the total oad. AP e

A. Rs. 70,400
B. Rs. 125,400
C. Rs. 140,800
D. Rs. 235,400
E. None of the above

In the diagram below, CD = BF = 10 units &)
. ‘ A s and ZCED = /BAF = 30",
triangle AED? (Note: Diagram below may not be pmportionaIA(Z sczlo -) et ouldbe the e of
S €.

A. 100 x (V2+3)

B. 100/ (V3+4)

C. 50/ (N3+4)

D. 50 x (V3+4)

E. None of the above

Two diagonals of a parallelogram intersect cach other "
at co

points of the parallelogram are (5.5,7.5) and (13.5, 16), Fing oordinates (175, 23.5). Two adjacent

the lengths of (e diagonals

.15 and 30
.15 and 40
.17 and 30
. 17 and 40
. Multiple solutions are possible

o0w»

m

P VAt il
186 - 1) =x" = 7oy and 06 =2) =2~ 9 4 then g g, r

C0f (ky— k,) i

2-k)) is

E. None of the above
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64.

65.

In the beginning of the year 2004, a person invests some amount in a bank. In the beginning of 2007
the accumulated interest is Rs. 10,000 and in the beginning of 2010, the accumulated intercs;
becomes Rs. 25,000. The interest rate is compounded annually and the annual interest rate is fixed.

The principal amount is:

A. Rs. 16,000
B. Rs. 18,000
C. Rs. 20,000
D. Rs. 25,000
E. None of the above

The tax rates for various income slabs are given below.

Income Slab (Rs.) Tax rate
(<500 Nil

> 500 to < 2000 5%
>2000 to < 5000 10%

> 5000 to < 10000 15%

There are 15 persons working in an organization. Out of them, 3 to 5 persons are falling in cach of
¢ income slabs mentioned above. Which of the following is the correct tax range of the 15 persons?

th
2000, the tax would be: 500 x 0+ 1500 x 0.05)

(E.g. If one is carning Rs.

A. 1350 to 7350, both excluded
B. 1350 to 9800, both included
C. 2175 to 7350, both excluded
D. 2175 to 9800, both included

E. None of the above
Ifa, b, cand d are four different positive integers selected from 1 to 25, then the highest possible
d)) /((a+b) + (c - ) would be:

value of ((a +b) + (€ +

A.47

B. 49

C.51

D. 96 )

E. Nonc of the above

An ascending serics of numbers satisfies the following conditions:
5 or 6, the numbers leave a remainder of 2.

i. When divided by 3,4, A
he numbers leave no remainder.

ii. When divided by 11t
The 6" number in this series will be:
27
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67.

68.

69.

A.242

B.2882 o
C. 3542

D. 4202

E. None of the above

1}1 an cxamination, two types of questions are asked: on,

For each vang answer, of one mark question, the .dcdc ”_‘ﬂ"k_

answer, of two marks question, the deduction iSV’/1 ofa “C.‘mﬂ ,

any unanswered question. The question paper has‘ Ilgal;(r;M
€ I

gulzsgtf)ns and two marks questions.

2 a’ mark and for each wrong

“ﬂrk\ul’,c/: of a mark is deducted for

s thwccg 2SSllons:md 10 two marks

oSt and 30 and every student
al of 27.5 marks?

questions. In the examination, students got all possibl.
on: e
had different marks. What would be the rank of a stude !m
nt,

A.S
B.6
C.7
D.8
E. None of the above
71.
For a positive integer x, define f(x) such th;
g at f(x +a) =
the value of f(1003) =k, then the valuc of *Kk’ wil] =0 %), where g is g ;
ill be: S an integer and f(1) = 4. If
A. 1003
B. 1004
C. 1005
D. 1006
E. None of the above
Devanand’s house is 50 kr s
tl vanand’s ho S s : m West of Pradeep’s hoyse, ¢}
heir respective houses. - On Sunday mops
"ming, at 10
) » 4 a.m., they Jeave
Under which of the following scenarios, the Minimum et 72
CC betweg, '
Lo ; N the
Scenario I: Devanand walks East at a const WO would be 40 km?
- m?
constant speed of 4 km per hour. speed of 3 per hoy,
Scenario I1: Devanand walks South at a co, " and Pradecy ata
Rt p walks South at &
a constant speed of 4 km per hour. ant speed of 3 km per |
Scenario I1I: Devanand walks West at a coy 0ur and pryq, Fast at
S TSt adeep walks East &'
a constant speed of 3 km per hour. A0t speed of 4 km pey |
"hour ang p,
adeep walks East 8t
A. Scenario I only
B. Scenario IT only
13

C. Scenario Il only
D. Scenario I and IT
E. Nonc of the above

The median of 11 different positive integers is 15 and seven of those 11 integers are 8, 12, 20, 6, 14,

22,and 13.
Statement I: The difference between the averages of four largest integers and four smallest integers

is 13.25.
Statement 11: The average of all the 11 integers is 16.

Which of the following statements would be sufficient to find the largest possible integer of these

numbers?

A. Statement I only.

B. Statement 1T only.

C. Both Statement I and Statement 11 are required.
D. Neither Statement I nor Statement 11 is sufficient.
E. Either Statement I or Statement 11 is sufficient.

cz0id ABCD are in the ratio of 4:5. ABCD is divided into an isosceles
ogram PBCD (as shown below). ABCD has a perimeter equal to 1120
ind Sin ZABC, given 2/DAB = ZBCD.

The parallel sides of a trap

triangle ABP and a parallel

meters and PBCD has a perimeter equal to 1000 meters. Fi

B o
A B D
A. 45
B. 16/25
C.5/6
D. 24/25
E. A single solution is not possible.

A three-digit number has digits in strictly descending order and divisible by 10. By changing the
digits anew ¢ 2

The difference b
will satisfy all these conditions?

places of the hree-digit number is constructed in such a way that the new number is also
divisible by 10. ctween the original number and the new number is divisible by 40.
How many numbers

w

A.
B.6
C.7

D.8

E. None of the above

of a circle inside a triangle is at a distance of 625 cm. from each of the vertices of the
meter of the circ
he triangle.

The centre
triangle. If the diar
find the area of t

le is 350 cm. and the circle is touching only two sides of the

triangle,

— el



74.

75.

76.

A. 240000
B. 387072
C. 480000
D. 506447
E. None of the above

If the last 6 digits of [(M)! — (N)!] are 999000, i i
MO Ny , which of the following option is not possible for

Both (M) and (N) are positive integers and M > N. (M)t is factorial M.
A. 150
B. 180

. s facin, i
p.m., he can see the tip of the minute hand of the clocgk aaglam clock at the top of a tower. At 5.00

N N t . .
Immedlal?ly, the person starts walking towards the tower, A‘3501¢(j)egr ee elevation from his eyc-levsL
o.f the .mlnul? ‘hand made an angle of 60 degrees with rés er., thl? person noticed t.hat the 117
dimensional vision, find the speed at which the person jg walkj pect o his eye-level. Using thre?
200V3 meters (V3 = 1.732). 8. The length of the minutes hand i

A. 7.2 km/hour
B. 7.5 km /hour
C. 7.8 km /hour
D. 8.4 km /hour
E. None of the above

Three pipes are connected to an inverted cone, with
connected to the top of the cone and can fill the ¢
respectively. The outlet pipe C, connected to the b
the cone is completely filled with water, all three
open for 20 hours continuously and the third pipe

height of the water inside the cone comes dows
possible?

1ts base af the ¢,

. Two . , arc
O Cone ingiigugy o

dually in § hours and 12 hour®

0tte

pipoel:)a::t MPYy a filled cone in 4 hours. Whe”

e remaing OPEned, TWo of the three pipes remaif

nto 50%, Wi O @ lesser time, As a result ¢
ich of the following options would b¢

A. Pipe A was open for 19 hours,

B. P%pe A was open for 19 hours 30 minutes,
C. Pipe B was open for 19 hours 39 minllleS'
D. Pipe C was open for 19 hours 50 minutesl
E. The situation is not possible, )
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7. Days of Tralning Uadergone

Answer questions 77-80 on the basis of information given below:

As a part of employee improvement programs, every year an organization conducts a survey on tFuee
factors: 1. Number of days (in integers) of training undergone, 2. Amount of bonus (in lacs) received
by an employee and 3. Employee cffectiveness score (on the scale of 1 to 10). Survey results for last
two years are given below for the same seven employees.

1. Employee Effectivencss Scores In Two Surveys
0
9.t
s Empl1
2L
6 -
H .
H .
ERREN )
A N X sl asurvey |
LA J ! XSurvey 2
A
A X,
X x Empl3
Empl6 x-—%
A a
Empls “Empla
I

In Two Surv

e T 1B, Days of Tralning Undergone vs. Emplogee Effectiveness Scores In Two Surveys
e e -

"
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77.

78.

79.

80.

In Survey 1, what was the ave
A erage bonus earney
17 days? d by employees who underwent training for more than

A. Between 16 and 17 lacs
B. Between 17 and 18 lacs
C. Between 18 and 19 lacs
D. Between 19 and 20 lacs
E. None of the above

Identify the number of er
mployces wl
1, but whose bonu .)’ e mployes effectivencss s i
§ s was lower than 20 lacs in Sy ness score was higher than 7 in Survey

A2
B.3
C. 4
D.5

E. None of the above

From Survey | to Survey 2, how many em

bonus decreased? Ployees un
onus decreased? derwent more days of training but their annual
- =3

y emp],

of employee effective score by at least | 0 rat;
St 1.0 rating

Oyees trainip asey
Alning i
ng days incregs d

along with

A2
B.3
C.4
D.7
E. Nonc of the above

Please go (o 1

an incre?s®

Pt

81.

82.

Answer questions 81-84 on the basis of information given below:

Twitter allows its users to post/share and read short messages known as tweets. Tweets can be of
Positive Tweets (in support), Negative Tweets (against) and Neutral Tweets. The

three types -
following table presents the Number of Votes and Tweets received by certain political parties.
b o
Number of Votes Tweets ( Year 2010)
Parties Year Year Year Total No. of l;osm:e Negative
weets

2000 2005 2010 tweets (%) Tweets (%)
; 320,700 | 343,200 | 364,450 131,021 | 333% 35.4%
,B’—— 133,450 154,000 241,325 108,128 30.4% 29.7%
C/__ 196,250 123,200 162,525 96,620 32.5% 26.6%

D 27,475 48,400 54,175 41,524 30.6% 36.1%
—E’/_ = 30,800 49,250 32,724 21.6% 41.0%
|E_ | -

Othex 98,125 | 180400 | 113275 15,000

Parties™ [Lie = TR

has sccured less than 2% of the total votes falls under 'Other Parties'

= Any party which

category. For example, Party E secured less than 2% of total votes, in the year 2000.

Note: 1f the vote share (Yoage of total votes) of a party changes from 15% to %% o 4 woe
share would be 25% (= 40% 15%).

wing options correctly arranges the political parties in descending order of gain in

Which of the follo
year 2005 to the year 2010?

vote share from the

A.EBDCA
B. EBCDA
C.EBCAD
D. BCEDA
E. BCEAD
Which of the following partics received maximum number of “neutral tweets” in the year 20107

A. Party B
B. Party C
C. Party D
D. Party E
E. One of the

partics categorised under 'Other Parties'
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83.

Between 2000 and 2010, in terms of gain in vote share which of the following cannot be a possible
value (approximated to one decimal place) for any party?

A.2.0%
B.2.5%
C.3.5%
D.4.5%
E.7.5%

h}]] 20;0, which of the following options has maximum difference between the vote sharc and tweet
share?

A. Party B

B. Party C

C. Party D

D. Party E

E. Other Parties
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